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Que:1 Give the answer from multiple choice questions,

Total Marks : 70
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1. The correct decreasing order for stability of alky! free radical is 1o

a. 3°>2°>1° T c. 20>3%10

b. 1°>2%> 30 d. 1°>3%2°
2. Hemolytic cleavage occurs between atoms of .

a. Same electronegativity ¢. Different clectronegativity

b. Botha&c d. either a or ¢,
3. Which group forms the strongest H-bond to water molecules?

a. Alcohols ' ¢. Phenols

b. Ethers

d. All equally strong
4. The appearance of a silver mirror in Tollen’s test indicates presence of

a. An aldehyde c. An alcohol
b. A Ketone d. An alkene
5. Ketones are prepared by oxidation of .
‘a.  Primary alcohol c. 2% alcohol
b. 3%alcohol ) d. None of these
6. Aliphatic amines react with cold nitrous acid to form
a. alcohol ‘ ¢. Diazonium salts
b. Nitrile ‘ d. Nitro alkanes
7. Amines are generally classified as .
a. Weak acids ¢. Weak bases
b. Strong acids d. Strong bases
8. Rectified sprit is . o
a. 100 % ethanol ¢. 100 % methanol
b, 90 % ethanol d. 95 % methanol
9. Hins berg reagent is - .
a. Pd+ BaSo4 C. p-toluene sulphonic acid
b. NH2NH2 + KOH d. benzene sulphonic acid
10.  Cyclic ethars with three membered ring are called .
a. Lactones ¢. Alkoxides
b. Oxiranes d. Epoxy resins

True or False. o ,
The hybridization of Nitrogen in Amine is SP”.

Hinsberg test is used for amines.

Butanol is having higher boiling point than mf':than_ol.
HOOC—-{CH,)4—COOH is the formula of ad.iplc acid, ' ’
Aliphatic alcohol react with cold Nitrous ac@s to form Acetic acid.
Phenol reacts with excess bromine water to give bromobenzene.
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Major product of CH;CH,CI + (CH4); NH is Tertiary amine.
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i "eSSur i licylic acid.
Sodium phenoxide reacts with CO, at 125° C under 5 atm pressure to give salicy
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Answer the following questions.

Which is stronger between bromoacetic acid and chloro acetic acid ? Why ?
Triphenyl methyl cation is more stable than benzyl cation. Explain in detail.
Define the term: Inductive effect.

p-nitro phenol has higher melting point than o-nitrophenol. Explain.
Explain acidity of phenol.

Give a reaction of acid catalyzed dehydration of alcohol.

Write about structures & physical properties of ethars,

Explain the term Enolization.

Write synthesis of m-bromophenol from nitro benzene.

Define the terrn Ammonolysis reaction.

Outline the uses of Sandmayer Reaction.

Write a reaction for Hofmann elimination.

Answer Any Four from the following question.
Write a note about steric effect in detail.

(20)

(32)

What are carbanion and carbcations ? How they are generated ? Mention any two reactions

involving them.
Williamson synthesis of ethers. Explain.

"Oxymercuration-demercuration” for preparation of alcohol. Write a note on it.

Aldol and cross aldol Condensation reaction.
Reimer-Tiemann reaction. :
Discuss Hofimann degradation of amides. -
Give synthesis of p-bromotoluene from toluene.
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